
Alphabetically:
a ◦a
b ◦b
c ◦c
d ◦d
e ◦e
f ◦f
g ◦g
h ◦h
i ◦i
j ◦j
k ◦k
l ◦l
m ◦m
n ◦n
o ◦o
p ◦p
q ◦q
r ◦r
s ◦s
t ◦t
u ◦u
v ◦v
w ◦w
x ◦x
y ◦y
z ◦z
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With ligatures:
f ◦f fA ◦F fV ◦

pk�
fu ◦e fuA ◦E fuV ◦

pk�
fd ◦d fdA ◦D fdV ◦

pk�
fv ◦b fvA ◦B fvV ◦

pk�
fl ◦l flA ◦L flV ◦

pk�
flu ◦n fluA ◦N fluV ◦

pk

�
flS ◦o flSA ◦O flSV ◦

pk�
flSu ◦w flSuA ◦W flSuV ◦

pk

�
fs ◦|k|
fs0 ◦|@|
g ◦g gA ◦G gV ◦

pk�
gu ◦u guA ◦U guV ◦

pk�
gd ◦v gdA ◦V gdV ◦

pk�
gv ◦} gvA ◦] gvV ◦

pk�
g1 ◦q g1A ◦Q g1V ◦

pk �
g2 ◦r g2A ◦R g2V ◦

pk�
g3 ◦s g3A ◦S g3V ◦

pk

�
g4 ◦t g4A ◦T g4V ◦

pk

�
gl ◦y glA ◦Y glV ◦

pk�
glu ◦z gluA ◦Z gluV ◦

pk

�
glB ◦{
glS ◦|
m ◦m mA ◦M mV ◦

pk

ms ◦� ms ◦

pk�
h ◦h hA ◦H hV ◦

pk�
hu ◦i huA ◦I huV ◦

pk	
hd ◦j hdA ◦J hdV ◦

pk

hs ◦K hs ◦

pkK
x ◦x x ◦

pkx
p ◦p P ◦

pkP
c ◦c c ◦

pkc
a ◦a A ◦A
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fs f gl gv f fs ◦kfy}fk
fs f glA gv f fs ◦kfY}fk
fs fA glA gvV f fs ◦kFY�fk
fs fA g1A gvV g2V fA fs ◦kFQ��Fk
msmAglgvmsxf ◦�My}�xf

Annotations:
a:

1f 2F
b:f

k

�f
c:f1 Q 2�

3

S
4

�f
d:

ay
b

�
e: kfpkL

pk

�fk
f: kfpkO

pk

�fk
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Vertex Feynman diagram:
adg

µ,c

b
e =

aDG
µ,c

b
� =

aD
γµ

µ,cGb� = igγµ(T c)ab

Two-loop diagram:

ffyff→ff[�ff =
pFf

k

�l \a
p+k−l
ff

Bremsstrahlung:

x
q=p′+k−p � kUpF p′+k

F
p′F+

kUpFk
p−kF p′F

q=p′+k−p]x
OPE:

−iΣope =

faf+kfyfk+ · · ·

 1

+

fx@y@xf+ · · ·

 〈ψMψ〉

+

[ x x} }kkk+ · · ·

]
〈GaµνGaµν〉

Complete vertex:fcf = faf+fpf+fpfpf+ · · ·

=
∞∑
n=0

F(pF)
n

=
F1− (pF)

.
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